
W
al

l t
o 

M
id

-R
oo

f S
ec

tio
n

Product Key

The following key outlines the

materials required in order to

produce the item drawn, along

with their source. Items to be

used in conjunction with

Performing Architectures

added alternate document.

Source: Builders Depot
1. Description: Structural

Graded C24 Treated
Carcassing Timber.
Size: 47mm x 125mm x
4.2m

2. Description: Structural
Graded C24 Sawn
Carcassing Timber.
Size: 47mm x 75mm x
2.4m

3. Description: Structural
Graded Sawn
Carcassing Timber.
Size: 47mm x 50mm x
2.4m

4. Description: Speed Pro
Loose Bolt. Size: M10 X
75mm

5. Description: WBP B/BB
External Plywood. Size: 
18mm x 1220mm x
2440mm

Source: Travis Perkins
6. Description: CPT

Concealed Post Base.
Size: 133mm x 133mm
x 145mm

7. Description: HBC Post
Base. Size: 139mm x
139mm x 76mm

Source: Screwfix
8. Description: Spax

Yellox PZ Countersunk
YELLOX Woodscrews.
Size: 6mm x 160mm

9. Description: Spax
Wirox TX Self
Countersunk
Woodscrews. Size:
5mm x 80mm

10. Description: Spax
Wirox TX Self
Countersunk
Woodscrews. Size:
4mm x 50mm

11. Description: Easyfix
Round Wire Galvanised
Corrosion-Resistant.
Size: 2.65mm x 40mm

12. Description: Easyfix
Bright Zinc-Plated High
Tensile Steel Hex Bolts.
Size: M10 x 120mm

13. Description: Sabrefix
Square Plate Washers
Galvanised. Size: M10
50mm x 50mm

14. Description: Easyfix
BZP Steel Hex Nuts.
Size: M10

15. Description: Easyfix
Zinc-Plated Steel Wing
Nuts . Size: M10

16. Description: Capital
Valley Plastics Damp
Proof Membrane Black.
Size: 1200ga 4 x 3m

Source:  SIG Roofing
17. Description: Fix-R

EPDM Membrane.
Size: 1.5mm x 3m (roll)
x 1m

18. Description: Drainage
Matt. Size: 20mm x 3m
x 3m

19. Description: Green
Roof Substrate.
Size:40mm

Source: Unknown
20. Description: Cladding.

Size: X x X x X

W
al

l t
o 

M
id

-F
lo

or
 S

ec
tio

n

W
al

l t
o 

Ed
ge

-R
oo

f S
ec

tio
n

W
al

l t
o 

Ed
ge

-F
lo

or
 S

ec
tio

n

1:
5

1:
5

1:
5

1:
5

Ri
gh

t I
nt

er
na

l E
le

va
tio

n 
+ 

Se
ct

io
n

1:
20

Rear Internal Elevation + Section 1:20

Left Internal Elevation + Section
1:20

Front Internal Elevation + Section1:20

Ri
gh

t I
nt

er
na

l E
le

va
tio

n 
+ 

Se
ct

io
n

1:
20

Rear Internal Elevation + Section 1:20

Left Internal Elevation + Section
1:20

Front Internal Elevation + Section1:20

Ground Floor Plan 1:20 Roof Plan 1:20

1
3 9 2

12

20 11

18 17 519

13 14

1

3 9 2
20 11

12

13
   

 1
4

18 17 519

3

1

12 13 14

12 13 14

20
20

2 9 3

10

16 16

2011
1

6

2 9 3

2011

10

16

8

2

2

20

10

11

20 16

3

2

220

10

11

20 16

3

10

10

2

2

20

20 16

16

1

3 9 2

10

20 11

18 17 519

13 14
16

12

1

12 13 14 7 13 4

20

2 9 3

10

16

2011

10

3

22
20 10 20

16

3

10

122
20 10 20

16

10

12 2

20

10 10

11
11

16

3
2

2

Window Post
Plan

1:5

Window Head
Section

1:5

Window Sil
Section

1:5

1:5

Window Elevation

Window Sil Isonometric

1:10

Do
or

 to
 R

oo
f S

ec
tio

n
1:

5

Do
or

 to
 F

lo
or

 S
ec

tio
n

1:
5

1:
5

Do
or

 P
os

t a
nd

 C
en

tr
e 

Pl
an

Product Key

The following key outlines the

materials required in order to

produce the item drawn, along

with their source. Items to be

used in conjunction with

Performing Architectures

added alternate document.

Source: Builders Depot
1. Description: Structural

Graded C24 Treated
Carcassing Timber.
Size: 47mm x 125mm x
4.2m

2. Description: Structural
Graded C24 Sawn
Carcassing Timber.
Size: 47mm x 75mm x
2.4m

3. Description: Structural
Graded Sawn
Carcassing Timber.
Size: 47mm x 50mm x
2.4m

4. Description: Speed Pro
Loose Bolt. Size: M10 X
75mm

5. Description: WBP B/BB
External Plywood. Size: 
18mm x 1220mm x
2440mm

Source: Travis Perkins
6. Description: CPT

Concealed Post Base.
Size: 133mm x 133mm
x 145mm

7. Description: HBC Post
Base. Size: 139mm x
139mm x 76mm

Source: Screwfix
8. Description: Spax

Yellox PZ Countersunk
YELLOX Woodscrews.
Size: 6mm x 160mm

9. Description: Spax
Wirox TX Self
Countersunk
Woodscrews. Size:
5mm x 80mm

10. Description: Spax
Wirox TX Self
Countersunk
Woodscrews. Size:
4mm x 50mm

11. Description: Easyfix
Round Wire Galvanised
Corrosion-Resistant.
Size: 2.65mm x 40mm

12. Description: Easyfix
Bright Zinc-Plated High
Tensile Steel Hex Bolts.
Size: M10 x 120mm

13. Description: Sabrefix
Square Plate Washers
Galvanised. Size: M10
50mm x 50mm

14. Description: Easyfix
BZP Steel Hex Nuts.
Size: M10

15. Description: Easyfix
Zinc-Plated Steel Wing
Nuts . Size: M10

16. Description: Capital
Valley Plastics Damp
Proof Membrane Black.
Size: 1200ga 4 x 3m

Source:  SIG Roofing
17. Description: Fix-R

EPDM Membrane.
Size: 1.5mm x 3m (roll)
x 1m

18. Description: Drainage
Matt. Size: 20mm x 3m
x 3m

19. Description: Green
Roof Substrate.
Size:40mm

Source: Unknown
20. Description: Cladding.

Size: X x X x X

Wall to Roof Section1:5Roof Edge Section1:5

Wall and Floor to Ground Section1:5Roof Column to Ground Elevation1:5

10
3
9
2

20
11

12

13
14

16

10

16

18
17
5

19

18
17
5

19

11

1

6

13
14
7
13
4

12

13
14

20

1

10 10

2
9
3

16

20
11

Roof, Floor and W
all

Structure Draw
ing

In 
response 

to 
other 

self
builds, both professional and
im

provised, 
docum

ented 
in

the additional docum
entation,

I 
kept 

the 
roof 

structurally
independent. This helps in it's
perform

ative construction and
gives 

the 
w

alls 
and 

floor
m

axim
um

 flexibility in building
and renovation.

1:100
Structural Com

ponent (6)
Exploded Isonom

etric

W
hile the vertical blade of this

com
ponent is usually placed

w
ithin 

a 
slot 

created 
in 

a
square sectioned post. In this
exam

ple I w
edge it betw

een
tw

o 
of 

the 
rectangular

sectioned 
pieces 

of 
tim

ber.
Achieving the sam

e effect w
ith

these alternate m
aterials.

1:10
1:10

Structural Com
ponent (7)

Exploded Isonom
etric

This com
ponent, w

hich saddles
the underside of the floor
joists, lifts them

 from
 the m

oist
ground surface, reducing
decay and creating a level
floor. Leveling is achieved by
adding to the num

ber of
w

ashers or w
ith the addition of

shim
s or packers.

18175 19

8
8

8
8

99

99

93

216

23

9

17

Roof Front Edge Section
1:5

Roof Rear Edge Section
1:5

Roof Colum
n Base Elevation

1:5

Window sil features slots, simply cut in the
underside, these gaps allow water, which
will inevitably gather to escape and the for
the wood to breath.

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
S

T
U

D
E

N
T

 
V

E
R

S
I
O

N
PRODUCED BY AN AUTODESK STUDENT VERSION

P
R

O
D

U
C

E
D

 
B

Y
 
A

N
 
A

U
T

O
D

E
S

K
 
S

T
U

D
E

N
T

 
V

E
R

S
I
O

N
PRODUCED BY AN AUTODESK STUDENT VERSION


	Sheets and Views
	190521_Drawings_1-A1Print


